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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0
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£ 200 i ® " 't ’
£ : L 1000
- 1
£
~—~ - I
- 100 : - 500
Ll
p——& & 4 & — I I i I
1.0 P ol o o e 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 HEE ES == E3 ES ES == E3 ES ES
0.84 = B B B B B B B B B B B B B B B B B B B B B B B
0.6 -
0.4 1
0.2 A
0.0
—_— 4

| _obs
PPFD_obs

o VPD

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=345, FV0=0 m=405, FV0=0 m=460, FV0=0

—o— ME —e— ME —8— ME 96 —— ME
18 1 24
24
16 22 1
22
14 - 201
20
18
T T T T T T T T T T T T T
400 600 800 1000 345 350 355 405 410 415 460 465 470
m=515,m FV0=0 m=575,m FV0=0 m=620,m FV0=0 m=675,m FV0=0
26
—— ME —— ME —o— ME —— ME
26 - 26 1
24
24 1 24 1
22
29 22
20
20 - 20 4
18 1
T T T T T T T T T T T T
515 520 525 575 580 585 620 625 630 675 680 685
m=725,m FV0=0 m=785,m FV0=0 m=825,m FV0=0 m=860,m FV0=0
24
—— ME —— ME —o— ME 26 - —— ME
9y 24 -
24
22 -
20
22
20 -
18 1
20
18
T T T 16 - T T T T T T T T T
725 730 735 785 790 795 825 830 835 860 865 870
m=890,m FV0=0 m=930,m FV0=0 m=970,m FV0=0 m=1010m FVO=0
—o— ME —— ME 28 1 —e— ME —— ME
28
27
26 -
26
26
24 -
24
25
22 -
22
24
890 895 900 930 935 940 970 975 980 1010 1015 1020



17.

17.

17.

17.

17.

17.

16.

19.

19.

19.

19.

18.

19.

19.

19.

18.

18.

18.

18.

m=1050, FV0=0

30 —o— MNE
28
26 |
24
T T T
1050 1055 1060
m=460,m FV0=0
5T —o— MW
4 -
3 -
2 -
1 -
0 -
9 -
T T T
460 465 470
m=675,m FV0=0
37 —o— MW
2 -
1 -
0 .
9 -
675 680 685
m=860,m FV0=0
27 —o— MW
‘I -
0 -
9 -
8 .
7 -
6 -

860 865 870

—— MW
22 -
20 -
18
T T T T
400 600 800 1000
m=515m FV0=0
8.4 o
18.3 -
18.2 -
18.1 -
18.0 -
17.9 -
17.8 -
T T T
515 520 525
m=725,m FV0=0
18. 90
18. 85
18. 80
18. 75
18. 70 o= MW
725 730 735
m=890,m FV0=0
—— MW
20.0 -
19.8 -
19.6 -
19.4 -

890 895 900

m=345, FV0=0

17.

16.

16.

15.5

—— MW

i

3%0 3%5
m=575,n FV0=0

18.

18.

18.

18.

18.

18.

M_W

5é0 5é5
m=785,n FV0=0

18. 50

18. 45 ~

18. 40

18. 35

18. 30 A

M_W

750 7é5
m=930,n FV0=0

785

21.0

20. 8 -

20. 6 -

20. 4

20. 2

—— MW

\

930 935 940

m=405, FV0=0
16. 50 - MW
16. 48
16. 46 -
16. 44 -
16. 42 -
16. 40
T T T
405 410 415
m=620,m FV0=0
19. 4 - - MW
19. 3 4
19. 2 A
19.1 4
19.0 A
18.9 A
T T T
620 625 630
m=825,m FV0=0
18.6 - MW
18. 9 4
18. 4 4
18. 3 A
18. 2 4
825 830 835
m=970,m FV0=0
-o— MW
21.6 -
21.4 -
21.2 A
21.0 A
970 975 980




m=1010, FV0O=0

22.4 —— MW
22.2
22.0
21.8
21.6
10H0 1615 10&0

23. 4 4

23.2 A

23.0 A

22.8 A

22.6

22.4 -

m=1050, FV0=0

—o—

M_W

T
1050

T
1055

T
1060
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1
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13
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00 N N o

:10
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140
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G3-1

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:30 143 80.0 1.728 F|  {Ri%006:30 Bzh (RF{EHSE
07:10 143 80.0 1.728 F[ BRige07:10 Ba1 (GRAERSE)
07:45 143 80.0 1.728 5| {Ri&e07:45 B (RRAERSE)
08:35 143 80.0 1.728 E|  {Rig@08:35 Bzl (RE{ERSE)
09:30 143 80.0 1.728 B 1Ri%e09:30 B (KRAEREE)
10:15 143 80.0 1.728 =l Bi&e10:15 Bz GGRAEREEE)
11:00 143 80.0 1.728 5| 1Ri%e11:00 B (KREAERSE)
11:40 143 80.0 1.728 =l Bige11:40 B (REAERESE)
12:30 143 80.0 1.728 El BRige12:30 Bz (GRAAEREEE)
13:15 143 80.0 1.728 E| {Rige13:15 Bah (REERSE)
13:45 143 80.0 1.728 =l {Rig013:45 B3 (REAERSE)
14:20 143 80.0 1.728 =l {Rig014:20 B3 (RAERSE)
14:55 143 80.0 1.728 E BRige14:55 Bz CGRAERESE)
15:30 143 80.0 1.728 El 1BRi&e15:30 Bz CGRAEREE)
16:00 143 80.0 1.728 =l RRiB@16:00 Bz (RFAEEE)
16:40 143 80.0 1.728 S {Ri%016:40 B3 (RAERSE)
17:30 143 80.0 1.728 El BRi&e17:30 Bz GRAEREE)
Bit] 2431.0 (170%) 1360. 0 JEWGHKEC: 2700.0, PH: 6.3

LRGEB R R IZER 32N (300 vs 148.0))

BRIALPRIERE162.0 ml.

RERSEBIPH (10.5) 5i&EPH (6.4) REK K, HHRET
FERSERIPH (10.5) 5FMPH (6.5) REK K, FHRE
LRGEBIEC (2844.0) 51REIEY (2340.0) REK K, BHHRE.
LORGEBIPH (10.4) 5i&EE (6.3) RERKK, BRE.
ERGERPH (10.4) S5iRBIE (6.3) RERK, BRE.



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

G3-1_0, Day=25 (2025-06—06)

B0 oS- ——————T————————————T——————] - 3000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 254451
501 - 2000 T
40 E
059
35 755 - 1000 2
20 1440 48 : : I -
Warning: col ['FVI', "FVO'] missing
5
N E o
Vi - —— ME @30
1000 FRV ] T max] g
- 20 o
500 +
- 15
{ofP————r=—"—="——"77/777""- r——wra—"wr——m§-—"r- | Innlalel Inlulniel =" bbbk bbbk shebelbnlsbnk selebnlnbnieh 10
4
0.8 4
0.6
0.4+
0.2 A
Warning: [col ['WC1',  "WC2’'] missing
0.0
3200 | optECO=1800. 0, setECB=2700.0 —>—  EcBx10% [
o ECC
3000 - 3 > > > > > > <
® ( () ([ ]
2800 - °
____________________________________________ i____‘__________________________________.
2600 -
[ ]
o [ [ o Y o ®
10 4 optPHO0=6.5, setPHB=6.3 b %—  PHB*10% 4
o PHC
8 .
6 B e e B < 7% 7T 7% 7% 7% ray T G T O ———————— -1
: 4
Bylnit @D27 02:08: ET=607 Fg=720.0 Ro=0 —_
| - 10000 2
1000 - i =
1 o
! -
1 E
1 - 5000
500 - | =
! g
1 o
0 oo ol <0l —o—00—@—S0—C—00—0—0—© - A— a— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
A 0 I I O O O O 0 O O O 0 A I PO
1 c
1000 — ByEt @D25 19:07: ET=811 Fg=8496.0 Ro=nan .I © & © ‘—:_
~N
| E
500 ! 5000
1 £
1 3
<l \ @ ©
0P " PN - 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
O = I O O O I B I B R T B2 ) E 2 0 B I
1 c
1000 1—ByWoFv @:’D27 02-08: ET=1103 Fg=1360.0 Ro=284.0 ‘—:_
~N
| E
1 - 5000
500 - | =
|
1 p—0o0—o@ m:ﬂ_:i. © @ @ @
1.0 B o Al o 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0ol fE |B=| M | # | W | F | | F | R | e | M | R | B | M | R | W | R | B | M |B5 %7 |85 B B
0.6
0.4+
0.2 A
2000
—_— 4
1500 A o | _obs
—@— PPFD_obs
1000 -
500 A




m=395, FV0=0

1.0
2504 @ ME
0.8+
22.5 A
0.6 1
200 1@
17.5 A 0.4 -
15.0 0.2 4
Warning: col ['M_E'] missing
12.5 4
T T T T 00 T T T T
600 700 800 900 1000 0.0 0.2 0.4 0.6 0.8 1.
m=580,m FV0=0 m=660, FV0=0
—e— ME —&— ME
22 20
20 + 18 +
18 4 16
16 14 4
T T T T T T
580 585 590 660 665 670
m=935,m FV0=0 m=935,m FV0=0
04 —o— ME 04 —o— ME
22 22
20 20 -
18 4 18 +
16 16
14 1 14 1
935 940 945 935 940 945
m=460,m FV0=0 m=520,m FV0=0
1.0 1.0
0.8 ~ 0. 8 1
0.6 - 0.6 -
0.4~ 0.4 -
0.2 A 0.2 -
Warning: col "MW ] missing Warning: col "MW ] missing
0.0 T T T T 0-0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.

0

m=460, FV0=0 m=520, FV0=0
1.0 1.0
0.8 4 0.8 +
0.6 - 0.6 1
0.4+ 0.4+
0.2 ~ 0.2 A
Warning: col ['M_E'] missing Warning: col ['M_E'] missing
00 T T T T 00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.
m=760, FVO0=0 m=845, FV0=0
20 1 —o— ME 20 - —o— ME
187 18 1
16
16
14
14 +
12 - T T T T T T
760 765 770 845 850 855
m m=395,m FV0=0
1.0
—-&— MW
20 0.8 -
19 1 0.6 -
18 0.4
17 4 0.2 -
Warning: col "MW ] missing
16 T T T T 0-0 T T T T
600 700 800 900 1000 0.0 0.2 0.4 0.6 0.8 1.
m=580,m FV0=0 m=660, FVO0=0
20.6 7 _g— ww 19. 80 -
2057 19.78 -
20. 4
19. 76
20. 3 A
19. 74 4
20. 2 A
201 19.72 4
20.0 A 19. 70 + MW
580 585 590 660 665 670




m=760, FV0=0

18. 60 —— MW
18. 55 ~
18. 50
18. 45 ~
18. 40
7(I30 7€I‘>5 7%0

m=845, FV0=0
17. 50 - - MW
17. 45 A
17. 40 -
17. 35 A
17. 30 -
T T T
845 850 855

m=935, FV0=0
16. 40 - MW
16. 35
16. 30 -
16. 25
16. 20
T T T
935 940 945

m=935, FV0=0
16. 40 - MW
16. 35 -
16. 30
16. 25
16. 20
T T T
935 940 945
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G3-1

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS R

06:30 143 80.0 1.728 E 1BRi%e06:30 Bzl (RAERE)
07:20 143 80.0 1.728 E|  {Ri1ge07:20 Bah (RFE{EREE)
08:35 143 80.0 1.728 | =| 1Ri%e08:35 Bxh (kAEREEE)
09:30 143 80.0 1.728 FA| 1B2i%@09:30 B3zh (kAB{ERESE)
10:20 143 80.0 1.728 FA| 1BRi%@10:20 B3h (RA{ERESE)
11:15 143 80.0 1.728 FA| 1BRi&@11:15 B3h (KRAHEESE)
12:10 143 80.0 1.728 FA| 1BRi%@12:10 B3h (kAB{EREE)
13:00 143 80.0 1.728 |Z=| 1BRige13:00 Bzh (REERESE)
13:45 143 80.0 1.728 |Z=| 1BRige13:45 Bzh (REERESE)
14:30 143 80.0 1.728 (2 =| 1BRig@14:30 Bzh (REERESE)
15:40 143 80.0 1.728 |%=| 1Ri&015:40 B3 (GRAHERSE)
16:50 143 80.0 1.728 |Z=| 1BRi&e16:50 Bzh (REERESE)
Bit]1716.0 (12)%) 960. 0 ZHKEC: 2700.0, PH: 6.4

FEREERIPH (10.54) 5iGEPH (6.5) REK K, AT
FERERPH (10.54) 5FPH (6.5) {REKK, AT

LRGEBIEC (2863.0) S51REVEY (2340.0) REK K, BHHE.

EXEBPH (10.5) S5igEME (6.4) HERK, HARE.
EREBPH (10.5) S#EEER (6.4) RERK, FRE.




G3-1_0, Day=24 (2025-06-05)

B0 ———— o —— e ———— e — e ——mmm—m———mmm——mmmmmmmm—mmm——mmm———m—mm—m———mm =]
)ék,vg1 ,ET = VI, V0, FVI, EFVO, FRV, adjFRV, ET 746} 800

60 =

a0 4889 600

40 - E

- 400 >~

>

2

20 1 L 200 *
27 Warning: lcol [FVI',| "FVO’'] missing 2

100 4

~
(4]
1

a1
o
1

FRV (ml plant-1)

N
(4]
1

1.0
0.8 -
0.6
0.4 -

0.2 A
Warning: lcol ["WC1',  "WC2'] missing

0.0
3200 4 optEC0=1800. 0, setECB=2700.0 —>— ECB*10%

® ECC
3000 - v
°
2800 4 x—>/ L

2600 [

X
X
X

. 0,
10 4 optPH0=6. 5, setPHB=6.4 —>—  PHBx10% [
® PHC

]
150 Bylnit @27 02:08: ET=504 Fg=560.0 Ro=0.0
- 1000

100 -

s & & o |

1

1

1

I

1

1
50 4 :

1

p—o—o—0—6 o0 \—I\\
0 0.—4 S
i5

ET (ml/hr/plant)
cumET (ml/plant)

1 2 [ 3] 4] 5T6 7 [8 9o Jiwo[1nJi12]18[14]15]16 ] 17 ] 18] 192072122723
B | (= (% | 5 |5 [ B | B | B9 [ FA | BA [ FH [ BA | BA [ P [ BH | BA [ FH | BAH | BA [ FH | BA | FA

150
- 1000

100 -
- 500

ET (ml/hr/plant)
cumET (ml/plant)

01517 2 [ 3] 4567 [8 9 Jiwo[1n[12]18[14]15]16 ][ 17 ] 18] 192072122723
BB | B[2=| i | B | B | B |[Z[ W | B [H W IZZ[(ZE|ZZ|Z2[(ZE5| B | B [ W |2x[25] W

.08 - - - - - 1000
ByWoFv @D27 02:08: ET=746 Fg=960.0 Ro=195.0 ® 4 3

- 500

ET (ml/hr/plant)
cumET (ml/plant)
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25|25 |Z=| W | A | B [ZE|5=] B
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el BB | 22| & | % | % | % (2= W | W | W% (5=
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|
| _obs
PPFD_obs




27

25

22

20

17

15

25.

24.

24.

24,

24.

24,

23.

22.

22.

22.

22.

m=385, FV0=0

5 —e— MNE b |~ ME I N
. 0 = 20 -
.5 1 19 -
.0 1 18 -
.5 1 17 -
ol 16 4 o
T T T T T T 15 T T T
400 500 600 700 800 900 385 390 395
m=630,m FV0=0 m=755,m FV0=0
24 - —o— MNE —o— ME
20 -
22 -
18 1
20 -
16 1
18
14 4
16
T T T T T T
630 635 640 755 760 765
m=385,m FV0=0 m=445 m FV0=0
] o000
07 —o— mw 26.251 —@— MW
81 26. 00 -
6 25.75 -
47 25,50 -
27 25,25 -
01 25.00 -
8 i T T T 24' 75 B T T T
385 390 395 445 450 455
m=755,m FV0=0 m=855,m FV0=0
87 —o— MW 21.9 7 _o— MW
6 21.8 -
21.7 1
4 -
21.6 -
2 -
21.5 -
755 760 765 855 860 865

m=445, FV0=0

28 A

26 A

24 -

22 -

20 -

—0—

M_E

445

4%0
m=855,n FV0=0

T
455

20 A

18 1

16 1

14

—0—

M_E

855

SéO
m=540,n FV0=0

T
865

26. 25 A

26. 00

25.75 A

25. 50 A

25. 25 A

25. 00

—o—

M_W
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545

550

m=540, FV0=0

26

24 A

22 -

20 A

18 -

—o— ME

T
540 545 550

26 -

25

24

23 A

22 -

—— MW

T T T T
600 700 800 900

m=630,m FV0=0

T T
400 500
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24. 4 -
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24.0 -

23. 8 A

—o— MW
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G3-1

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:30 143 80.0 1.728 F  BRi1%e06:30 Ba1 (RAERSE)
07:10 143 80.0 1.728 S| {Rig@07:10 Bz (KRAERSE)
08:05 143 80.0 1.728 E  1BRi%e08:05 BE1 (RAERRE)
08:55 143 80.0 1.728 5| 1Rike08:55 Bz (KRFIEES)
09:50 143 80.0 1.728 =l {Ri%@09:50 B (RAERSE)
10:35 143 80.0 1.728 F BRi%e10:35 Bz (GRAERESE)
11:10 143 80.0 1.728 =l Rige11:10 B3h (GRAEESE)
11:55 143 80.0 1.728 = {Rige11:55 B (GRAERSE)
12:45 143 80.0 1.728 E BRige12:45 Bz CGRAERESE)
13:40 143 80.0 1.728 5| {Ri%e13:40 B3 (RAERSE)
14:20 143 80.0 1.728 =l {Rig014:20 B3 (RAERSE)
14:55 143 80.0 1.728 E BRige14:55 Bz CGRAERESE)
15:30 143 80.0 1.728 El 1BRi&e15:30 Bz CGRAEREE)
16:05 143 80.0 1.728 =l RRiB016:05 B (RFAEESE)
16:45 143 80.0 1.728 S| {Ri%016:45 B (REAERSE)
2it] 2145.0 (15)%) 1200. 0 3203 KEC: 2700.0, PH: 6.5

large discrepency for begining water status (105:261.0), set to 105 ml.
REXEBIPH (10.81) H5i&EPH (6.5) RER KA, HFHRE

REXFEBIPH (10.81) 5FMPH (6.5) RERK, FHRE

ERGEBIEC (2749.0) SHEEEIN (2340.0) RERK, BWE.

ERGEBIPH (10.5) 5i&%EE (6.5 RERK, FRE.

LERGEBIPH (10.5) S5iREEY (6.5) RERK, BHRE.



G3-1_0, Day=23 (2025-06-04)

Q0 — — T T T T
VI, VO, FRV, ET = VI, V0, FVI, FVO, FRV, ad jFRV, ET 9881 1000
723 718208 | 750
40 7 L 500
20 1 L 250
88 Warning: lcol [FVI',| "FVO’'] missing 27
- 0
1081 — ME ’
~ = 30
T I maxM . {
é 75 1
= —25|.u|
_ 50+ =
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= 25 L 20
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1.0 15
U
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0.6 -
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0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
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® ECC
2800 - *—=n - 3¢ 3¢ —>¢ X
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L °
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e o o | ° ° ® ® )
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o 1 I \\\\\\\\\\
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0ol T | % | | | | | | | m® @ | m | m | m | m | m | m | m | m|m || m|m|E]®
0.6 -
0.4
0.2
[
| _obs
PPFD_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=400, FV0=0 m=460, FV0=0 m=520, FV0=0

32 A
—o— ME 30 —o— ME —o— ME —o— ME
30. 0 1 30
30
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